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Solving Sequence

37>2—>1—>8—>4—>6->12>9—>5—>11~> 10> C5,C9
€10

A knot diagra co T T er T e3 g c12 g e
Ideals for irreducible component#ﬂ)f Xpar

I = (u'% — !9 203 1)

* 1 irreducible components of dim¢ = 0, with total 104 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u'% — !9 4 ... 4 20u% + 1)

(i) Arc colorings

w= (3)

a7 =
a9 =
ayp =
ag =

—ul0 4 308 — 4ub + 3ut —u? + 1)
aq =

—ut0 4+ 208 — 3ub + 2ut — 2

wb —ut+1
—u® + 208 — 20t
wl? — 407 + 8ut® — 8ul3 + 3wl + 2u® — 207 + 2u® — 3ud + 2u

—u?t +5ut? — 13u!” 4+ 20u!® — 2003 + 13wt — T + 40" —wd — P 4 u
W — 1+ w2+ 1
—uP? + 12050 + - — 8ub +ut

U T 4 241
7U28 + 6u26 N 8U6 _ 3u4

uT = 18U 4 - —dud 4
ao =\ " —17Tu™ + - —ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'%? — 924100 4 ... — 442 — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1 w04 474108 4902 41

C2,Cq w' — ! 23 1

c3,C12 ul® 4t 2241
Ca uwl% — 19 o 4786w + 1237

Cs5,C10 w4+t 2u 41
¢t u'% — 30 4. —8u+3
c8 ' 41300 o 200 + 1
Co w04 4404103 44902 41
i w'™ 4 50" + .- 4 17926u + 3477




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1 Yl 121910 b dy 1

C2,Co y104 _ 47y103 4ot 2y2 +1

C3,C12 Y0t — 799103 L 112y 4 1
C4 Y0t — 231103 1 ... — 66086992y + 1530169

¢s, C10 y104 + 49y103 4ot 2y2 +1
cr Y10 4 5108 1 800y + 9
cs yl0h £ 108 984y + 1
Cy g0 113108 1 b dy 1
11 y'0 4299103 ... 4 539591540y + 12089529




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.859307 + 0.5242031

—0.01758 + 7.723371

—0.859307 — 0.5242031

—0.01758 — 7.723371

0.836775 + 0.5031991

1.90773 — 2.970291

0.836775 — 0.5031991

1.90773 + 2.970291

—1.011650 + 0.2330391

—2.04169 + 0.660171

= —1.011650 — 0.2330391

—2.04169 — 0.660171

= —0.980187 + 0.3971971

—1.88622 + 1.312841

—0.980187 — 0.3971971

—1.88622 — 1.312841

—1.056710 + 0.0666321

0.57803 + 2.084211

—1.056710 — 0.0666321

0.57803 — 2.084211

—0.958501 + 0.4522961

—1.91153 + 1.297801

—0.958501 — 0.4522961

—1.91153 — 1.297801

1.070350 + 0.0913841

1.69880 + 2.665631

1.070350 — 0.0913841

1.69880 — 2.665631

1.055850 + 0.2049601

—5.41329 + 2.540491

1.055850 — 0.2049601

—5.41329 — 2.540491

0.542072 + 0.7413061

3.99783 — 9.104361

0.542072 — 0.7413061

3.99783 + 9.104361

1.051860 + 0.2533801

—4.49361 — 4.879321

1.051860 — 0.2533801

—4.49361 + 4.879321

—0.534590 4- 0.7412841

6.16977 + 4.048161

—0.534590 — 0.7412841

6.16977 — 4.048161

—0.515131 4 0.7480641

7.20284 4 1.697921

= —0.515131 — 0.7480641

7.20284 — 1.697921

—1.083390 + 0.1367941

—4.04015 — 2.236361

—1.083390 — 0.1367941

—4.04015 + 2.236361

0.504216 + 0.7531781

5.99912 + 3.197181

0.504216 — 0.7531781

5.99912 — 3.197181

1.092950 + 0.1166541

0.50313 + 4.817621

||| |g|g|g|e|f|g|g(g|g|g|r|g|g|g|g|f|”f|g|g|g|g|g|g|g |

1.092950 — 0.1166541

0.50313 — 4.817621
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Solutions to I} vV—=1(vol + /=1CS) Cusp shape
= 0.756728 4 0.4844091 2.14268 — 1.171211 6.64343 4+ 0.1
= 0.756728 — 0.4844091 2.14268 + 1.171211 6.64343 + 0.1
= 0.531824 + 0.7230391 1.51039 — 1.638411 0
= 0.531824 — 0.7230391 1.51039 + 1.638411 0
= 0.453000 + 0.7711171 5.72060 — 0.331111 5.65604 4 0.1
= 0.453000 — 0.7711171 5.72060 + 0.331111 5.65604 4 0.1

—0.442763 +4- 0.7748451

6.80677 — 4.552071

7.37432 4 3.792021

—0.442763 — 0.7748451

6.80677 + 4.552071

7.37432 — 3.792021

= —1.101690 + 0.1210041 —1.74425 — 9.831741 0

= —1.101690 — 0.1210041 —1.74425 4 9.831741 0

= 0.422973 + 0.7844941 3.34574 4+ 11.963201 0. — 7.588741
0.422973 — 0.7844941 3.34574 — 11.963201 0.+ 7.588741

—0.427276 4 0.781006.1

5.58256 — 6.891021

5.88164 + 3.700831

—0.427276 — 0.781006.1

5.58256 + 6.891021

5.88164 — 3.700831

0.420575 + 0.7704101

0.90649 + 4.326931

0. —2.335661

0.420575 — 0.7704101

0.90649 — 4.326931

0.+ 2.335661

—0.705886 +- 0.5078421

0.40911 — 3.449101

3.11069 + 2.138021

—0.705886 — 0.5078421

0.40911 + 3.449101

3.11069 — 2.138021

= —1.077900 + 0.3840691 —3.24714 4+ 0.723161 0
= —1.077900 — 0.3840691 —3.24714 — 0.723161 0
= 1.091470 + 0.3788751 —5.64601 + 3.932671 0
= 1.091470 — 0.3788751 —5.64601 — 3.932671 0
= 1.057270 + 0.4687561 —1.30857 — 5.153181 0
= 1.057270 — 0.4687561 —1.30857 + 5.153181 0
= 1.091190 + 0.4023661 —7.16519 — 3.664031 0
= 1.091190 — 0.4023661 —7.16519 + 3.664031 0

0.442649 + 0.7044961

2.18390 + 1.103521

3.36438 — 0.544291

= 0.442649 — 0.7044961

2.18390 — 1.103521

3.36438 + 0.544291

= —0.406121 + 0.7174381

—0.98090 — 4.645431

—1.49398 + 4.595811

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= —0.406121 — 0.7174381

—0.98090 + 4.645431

—1.49398 — 4.595811




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

—1.096760 + 0.4435511

—6.88645 + 3.663221

0
u = —1.096760 — 0.4435511 —6.88645 — 3.663221 0
uw= 1.092910 + 0.4598751 —2.73025 — 6.497851 0
uw= 1.092910 — 0.4598751 —2.73025 4 6.497851 0
u = —1.102030 + 0.4607281 —5.09595 + 11.303701 0
u = —1.102030 — 0.4607281 —5.09595 — 11.303701 0
u = 1.033640 + 0.6014941 0.01999 — 3.427541 0
u= 1.033640 — 0.6014941 0.01999 + 3.427541 0
u= 1.031380 + 0.6166171 2.54297 + 3.938221 0
u= 1.031380 — 0.6166171 2.54297 — 3.938221 0
u = —1.036210 + 0.6145431 4.67843 + 1.110921 0
u = —1.036210 — 0.6145431 4.67843 — 1.110921 0
u = —1.076910 + 0.5612711 —2.47407 4 2.032161 0
u = —1.076910 — 0.5612711 —2.47407 — 2.032161 0
u = —1.049530 + 0.6134671 5.61409 + 3.475271 0
u = —1.049530 — 0.6134671 5.61409 — 3.475271 0
u= 1.056730 4 0.6135291 4.35675 — 8.383691 0
u= 1.056730 — 0.6135291 4.35675 + 8.383691 0
u= 1.076960 + 0.5785291 0.31558 — 6.043731 0
u= 1.076960 — 0.5785291 0.31558 + 6.043731 0
u = —1.090550 + 0.5769631 —2.98339 4 9.605311 0
u = —1.090550 — 0.5769631 —2.98339 — 9.605311 0
u= 1.086520+ 0.6071111 3.83813 — 4.876101 0
u= 1.086520 — 0.6071111 3.83813 4 4.876101 0
u = —0.425267 4 0.6218811 —0.56836 + 2.702241 0.03525 — 3.310471
u = —0.425267 — 0.6218811 —0.56836 — 2.702241 0.03525 + 3.310471
u = —1.092040 + 0.6058581 4.87795 + 9.763441 0
u = —1.092040 — 0.6058581 4.87795 —9.763441 0
u=1.099510 + 0.5978841 —1.10494 — 9.495211 0
u= 1.099510 — 0.5978841 —1.10494 4 9.495211 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.100100 + 0.6037341 3.58412 4 12.108501 0
u = —1.100100 — 0.6037341 3.58412 — 12.1085017 0
uw=1.102800 + 0.6037581 1.3260 — 17.18901 0
uw=1.102800 — 0.6037581 1.3260 4 17.18901 0
u = —0.440195 + 0.5506481 —0.56785 4 2.712511 0.81371 — 3.531301
u = —0.440195 — 0.5506481 —0.56785 — 2.712511 0.81371 4 3.531301
u = —0.115185 + 0.6093341 —2.40566 — 7.262907 | —1.85956 + 7.009551
u = —0.115185 — 0.6093341 —2.40566 4 7.262907 | —1.85956 — 7.009551
u=0.122607 + 0.5796441 —0.12195 4 2.520841 1.47418 — 3.470021
u=0.122607 — 0.5796441 —0.12195 — 2.520841 1.47418 + 3.470021
u = —0.062282 + 0.5834491 —4.12580 + 0.186351 | —5.37095 4 0.176801
u = —0.062282 — 0.5834491 —4.12580 — 0.186351 | —5.37095 — 0.176801
uw= 0.223352 + 0.4971081 0.88054 4 1.247921 3.91671 — 4.2484471
u=0.223352 — 0.4971081 0.88054 — 1.247921 3.91671 4 4.2484471




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 ut™ 447 20 1

¢, 6 wl04 108 4908 1

c3,C12 w4t 22041
C4 w0 — 19 4 4786u + 1237

Cs5, C10 w421
¢ u'® — 30! 4 — 8u+3
s w130 o 20u 41
Co Wl 4490103 44902 41
c11 u'®* + 50t 4 179260 + 3477




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1 g0 £ 219103 1y 41

Ca, Co y104 _ 47y103 +oeee gt 2y2 +1

c3,C12 YO =79y 1 112y 1
Ca y'9 — 235103 ... — 66086992y + 1530169

Cs5,C10 yt0 4494108 4 22 11
cr y' +5y'% + .+ 800y + 9
c8 YO+t 284y + 1
Cy y104 L 13y103 1yt 1
ci1 y' £ 299193 ... 4 539591540y + 12089529
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